46.

47.

48.

45.

The function

N I R
) :Iﬂrl (1 +sinmu)'+1 .
discontinuous at u = x. The value of x is
(A) 0
<) 1

If y =

43+ 3
terms, then y’ (0) is equal to

1 2
(A)_1+n2 (B) _l+n2
n n’
© 1 +n? (D) 1 4 n?
E!Y‘)(z)"'
Ify-= " , then
log = )
equal to
(A) 0 (B) 1
3
© 3 (D) 2

The length of the longest interval in

which the function 3 sin x — 4 sin’x is
increasing is

A

(A) 3 (B)

3
© = (D)

|

The difference between the greatest and
least values of the tunction

1 1
f(x) = cos x + 5 cos 2x ~ 3 cos 3xis

2 8
(A) 3 (B) 7

9 s
© 3 D) 7

12

49. Given is a circle x2 + y* = r>. Tangents
are drawn from the point (6, 8) to the
circle. The value of r, for which the area
enclosed by the tangents and the chord
of contact is maximum, will be

(A) 5 (B) 5\2
5
(©) 5\3 (D) 3

50.

cos 2x—cos 20 . .
se—t———— iz equalto

cos x —cos 0
(A) 2(sinx+xcosB)+c
(B) 2(sinx—-xcosB)+c
(C) 2(sinx+2xcosB)+c¢
(D) 2(sinx—2xcos0)+c

51. f (\/tan x ++Jcot x) dx is equal to

(A) \ﬁ sin™! (sinx + cos x) + ¢
(B) \ﬁ cos™! (sinx + cos x) + ¢
(©) \ﬁ sin™! (sinx —cosx) + ¢
(D) /2 cos™! (sinx—cosx)+c

52. The value of

i (1+2+3~+m(?+22+3+-n),
fa #4284+ 34+ = ot =
7
(A) 1 (B) 13
1
(D) 3

1183, lffis}i# d function, then value of

f(sin x)

bﬁﬂ dx
\:“MOS x) + f(sin?y)

f(sin x)
f(cos x) + f(sinx)
0

(A) 2

(B) f(sina)
©) 1
(D) 0

BIMM6é6



(1 +sinmu)' - |
. W flu) = =x
3 ) 1Ilm (1+sinmu)+1 i

RIGIIE | X PIAAE

(A) 0 (B) -1
() 1 D) 2
1
L -1 -1
45. IR y " T + tan
o lanfl_—-—-l s 5
x+3x+3 A4+ 5c+7
e ad, qay’ (0) FTAF T
1 2
i e ® "Ten
3
n n-
(©) ra (D) Tind
1
46. u%y=(l+-).aa F1 A
==
.k
&
(A) 0 (B) 1
3
©) 3 (D) 2

47. e 3 sinx — 4 sin’x & gREAR EF & wa

T ST B TS &

(A) 3 ®) 3
3

ke (D) n

1 1
48. o f(x) =cosx+7 cos 2x "3 cos I &

wEeH 3R gEaH A B 3R §
2 8

A3 (B) 37
9 15

© 3 D) 7

BIMM®6

13

49, Rmtwgax’+y> = g6 8) @
T, ANy weied i ot # | r %1 98 A
R el ek wet ot & forx

50. J‘ cos 2x — cos 260
cos x—cos 6
(A) 2(sinx+xcosB)+c
(B) 2(sinx—xcosB)+c

(C) 2(sinx+2xcosB)+c¢

(D) 2(sinx—2xcosB)+c

Ay BFTHFEE

51. J- (\/tan x +fcot x) dx BT A&
(A) \ﬁ sin~! (sin x + cos x) + ¢
(B) \E cos™! (sinx+cosx)+c¢
(C) 2 sin”! (sinx —cosx) +c¢
" (D) \2cos”! (sinx—cosx)+¢

(1+2+3+=+n) (12 +22+32+n)

ok nl.l.lflw R A Ll
HIAE B
(A) 1 (B) 13
5
r (D)
f us fuq Ba &, 99
a -
isna) dx 1A &

f(cos x) + f(sinzx)
f(sin x)
(A) Zj f(cos x) + f(sinzx}
0

(B) f(sina)
1
(D) 0



54,

55.

56.

57.

58,

59.

x dx
f (—lm_) is equal to

(A) 7 A8 5
©C) n (D) 2n
2
The value off sin~! (sin x) dx is
—R/2
sz gl
hy = ® -7
5 2
© X (). E

The area bounded by the straight lines

x=0and x = 2 and the curves y = 2¥ and
y=2x—x2is

(A) 310g2—§ (B) i_Og__ili

3
(D) log2+4

4
© log2 3

The degree of the differential equation
corresponding to the family of curves

y=a(x+ a)?, where ais a constant, is
(A) 1 (B) 2
©) 3 (D) 4

The order of the differential equation
whose solution is

y=acosx+bsinx+ce™is

(A) 4 (B) 3
©) 2 (D) 1
The solution of y° x +y — x %= 0is
2 1Y \'5 1(x\?
W §H e o 4

14

63. Ifsin’0= __Y"_.

60. An object falling from rest in air is
subject not only to the gravitational force
but also to air resistance. Assume that
theair resistance is proportional te the
y\with constam of propomonallty

(B) (9 8 — k) m/s

(D) m/s

61. The differential equation of all parabolas
whose axis are parallel to y-axis is

3 3

dy dx &y
()™ d e d'c3 4

2

43 G _fl__ _z
© 3+ 7m0 (D) 2q=C

62. Ify=e* cosxisasolutionto '

%}: 6 :‘g+ ky = 0, then the value of k is
(A) 1- (B) 4
(C€) 8 (D) 10

then x must be

(A) -3
(€) -1

(B) -2
(D) 1

64. Ify= (l + tan A) (1 — tan B) where

B _Z’ then (y + 1) * ! is equal to

(B) 9
(D) 64

5and cos o+ cos B =

the value of sin (o + B) is

24 13
(A) 53 (B) 53
12 7
© 73 D) 33

B1IMM6



55.

56.

57.

58,

59,

} xdx ot ik
(1+x)(1+x%)

A) 7 ®) 5

) n (D) 2=

2r
f sin”! (sinx) dx FTAF &
-2

Lo,

@ o5
15n2
8

(A) *%

)% (D)

T X3 x = 0 T x = 2 AR bl y = 2F

Tq y = 2x — x> 9 T & &

4 log 2 +

(A) 3log2-3  (B) -953——4
3 3

© Jog273 ®© TYog2+4a

Ty = a (x + a)2, el a U@ Fraais &, &

IRaR ¥ Gd sradag aHiev #i fel &
A) 1 (B) 2
© 3 (D) 4

FFHANG FHHI], FTaHF & y = a cos x

+bsinx+ce g B PRCE
(A) 4 (B) 3
). 2 (D) 1

60. arg ¥ Rsmm s@ren ¥ iR @ @ g W

Hqc TOATHUY ad & TE a7 &1 & afe
Ry P R @ e 1T aa o &
b 0 % 3l TR ¥ Rt e
=98 mf’sz). a9 I 399 IS

8+km/s (B) (9.8-k)m/s
(C) 9.8 km/s (D) 8 =em/s

61. Mt waeral, NEd e y-318 & 9= €,
BT IAHAAT THB &

3 2. ' 3

dz dox dx

1o dy2 =0 (B) =)
2

dy , &’ dy dy_
drz d' —=0 (D) dx2+2d\'"c

(A)

(©)

2
62. u%j—xzx-é%‘f+ky=

y=eXcosx B, qak FIAF

(A) 1 (B) 4
T (EY 8 (D) 1_0

2 P+yr+1
63. af¥sin?0 = 5

=1fey :

(A) -3 (B) -2
© -1 (D) 1

=< y = (1 + tan A) (1
Y

0 &1 U &A

q9 x G N B

— tan B) W&f

sin (o.+B)HTAFE

24 13
(A) 53 (B) 53
12 7
©) 13 (D) 5%

B
n



66.

67.

68.

69.

70.

7.

If sin o0 = A sin (o0 + B), A

value of tan B is e

sin o (1 +AcosB)
A cos o.cos B

sin 0. (1 — A cos B)
A cos o cos B

cos 0. (1 — A sin B)
A cos o cos B

cos o (1 + A sin B)
A cos o.cos B

(A)

(B)

(©)

(D)

The number of solutions of the equation

l+sm\sm =0in[-m, n] is
(A) 3 (B) 2
©) 1 (D) zero

AB is a vertical rod resting at the end A
on the ground. P is a point on the ground
such that AP = 3 AB. If C is the mid-
point of AB and CB subtends an angle
at P, then the value of tan B is

3 1
) ®

1 5
©) % D) %

In a triangle ABC,a=7,b=8,¢c=09.
BD is the median and BE is the altitude
from the vertex B, then BE is equal to

(A) 2 (B) 7

(€) 45 (D) /53

If the tangents of the angles A and B of a
triangle ABC satisfy the equation
ab x? — cZx + ab = 0, then sin® A + sin® B
+sin? C is equal to

(A) 0 (B) 1

©) 2 (D) 3

In a triangle, the lengths of the two

larger sides are 10 and 9 respectively. If

the angles are in arithmetic progression,
the length of the third side can be

(A) 33 (B) 5
(€©) 5++/6 (D) 5+33

if 1
(@A) —3 (B) 0

1
© 1 D) 3

73.  The equation 2 cos™'x = sin!(2x\/1-2)
is valid for which of the following range
ofx?

(A) -1sx<1  (B) 0<x<1

() OSxﬁé (D) éSxSI

74. Two friends A and B have equal number
of daughters. There are three cinema
tickets which are to be distributed among
the daughters of A and B. The
probability that all the tickets go to the

daughters of A is % Then, number of

daughters each of them have is
(A) 2 (B) 3
€ 4 (D) 5

75. Nine horses are in a race. Mr. X selects
two of the horses at random and bets on
them. The probability that Mr. X
selectcd the winning horse is

(A) (B)

©) (D)

Oloo Ol

2
9
4
9

76.  Complete solution set of cot™! x <tan™! x is
(A) x€ (—o,0) (B) xe (-%,1)
(C) xe (1,e)

D) xe (-1,1)

1
®) 3

1
T

B1IMM6




67‘

690

70.

71.

BIMM6

f§ sin o0 = A sin (oo + B). A # 0, T9
tan  &TAF &

sin o (1 + A cos B)
A cos 0. cos B
sin o (1 — A cos B)
A cos o cos B
cos 0. (1 — A sin B)

(A)

(B)

© A cos o.cos B
cos 0. (1 + A sin B)
(D) A cos 0.cos B

¥HHYor 1 + sin x sin2‘§=0$'ﬁﬁ3ﬁ
T [-m, w] W E
(A) 3
(). 1

(B) 2

(D) T¥

AB & SR B¢ & foras R A exdft
REEIPRARG Rgzuaaor & fF
AP = 3 AB, aft AB &1 weafawg C & 3iR
CB, P WX ®v1 B 971 &, @@ tan P HTHH &

3 18
(A) 19 ®B) 19
1 5
© % D) %

7@ Bt ABC #,a=7,b=8,c=9. BD
#ifeaeT & 3k BE ¥fid B 9 %47¢ &, 9@ BE
HIAAE

(A) 2 (B) 7

(€) 45 (D) /53

I va f3yyst ABC & 10 A Ud B wHiavvl
abx? — ¢2x + ab = 0, B UIE T &,
sin® A + sin® B + sin® C BT 9 & |

(A) 0 (B) 1
) 2 (D) 3

mﬁgwﬁ,ﬂaﬁﬁmgmaﬁaﬁaﬁﬁ%a
a9 10 Td 9 & | 2 Pior waTar Soft 3 8,

a e 3o B TS B ol §
(A) 33 (B) 5
(C) 5++/6 (D) 5+33

-
&

&

17

72. AR 4sin'x+cos 'x=m AAxFIHAE

(B)

| — o

1-22)dmgo
(B) 0<x<1
(C) 05;\'5% D) —\;35.\‘51

213 A vd B & UedHE G H afedr € |
& R Rael 1 A 1d B @t afedi & di=
frafRa frar s & | WOt ot & A &

74.

afeal 9 o A TR 55 ¥ | T, T
1 afera @ e =
(A) 2

©) 4

@ e A aR & | . X awfie o g
Z1ErS g & ol 97 W wd @ § 1L X
5 o) ST T S Y g A e &

(B) 3
(D) 5

15

3
(A) B) 5

(©)

Ol ol

8
D g

cot ! x<tan ' xFHEi EA FIAC R

A) Xe (—oo‘ W} (B) X€e (_ o9, 1)
xe(l,) - (D) xe(-1,1)

76.

7. ¥ 10 af oie e o @
1 & st wwa oot ¥ 10 7 ot
5 .
ST R A wfwr g & 7, 10 78 e
% et 35 ot e et A iR



79.

80.

81.

82,

83.

drawn together. For both the cardsf§
kings, the probability is

] 2
(A) 1 (B) 121
1 2
(©) »1 (D) 1

If f(x) = (ax? + b)?, then the function g
such that f(g(x)) = g(f(x)) is given by

b__.l"3 1/2
(A) g(x).:( = ]

(B) g(x)=

(a\2 + b)3

©) gbx)= (El.\"2 + b)ld

"II'}--b 12
(D) g(x)=(‘ )

a

If f(x) = ax + b and g(x) = cx + d, then
flg(x)) = g(f(x)) implies

(A) f(a)=g(c) (B) f(d)=g(b)
(C) f(b)=g(d) (D) flc) = g(a)

Given P = {(x, y) |x2+ y2 =1,x,ye R},
then P is

(A) Reflexive
(C) Symmetric

(B) Transitive
(D) Anti-symmetric

If mean deviation is 12, then the value of
standard deviation will be

(A) 12 (B) 9
(€) 15 (D) 18

§
L)

The mean age of a combined grd]

respectively 32 and 27 years, then ths,

percentage of women in the group is
(A) 30 (B) 40
(€) 50 (D) 60

18

ibatsman scores run in 10 innings as

) 70, 48, 34, 42, 55, 63, 46, 54 and 44,

gen the mean deviation is

' (A) 8.6 (B) 6.4

(C) 10.6 (D) 9.6

85.  The following data gives the distribution
of heights of students

Height 160 | 150 | 152 | 161 | 156 | 154 | 155
(in cm)

Number of | 12 8 4 4 3 3 7

students

The median of the distribution is
(B) 155
(D) 161

(A) 154
(©) 160

86. An ogive is used to determine
(A) arithmetic mean
(B) median
(C) harmonic mean

(D) mode .

87. The sum of the series
e il g
R TR TR TR infinity is

(B) 3e
(D) Se

w 322 2 5.4 i 726 - i ALk infinity is
(A) logS5 (B) log 4
(D) log.2

©) IogEB
j B1IMMeé




78.

79.

80.

81.

82.

83..

BIMM6

E€)AS

52 19 % il A T 9, < T v g
aﬁ%:aﬁﬁﬁ%mﬁ%aﬂmﬁrﬁ

1 2
(B) 1371

(A) 121

2
© 2i D) 21
% f(x) = (ax? + b)’, 79 98 Her g, Wl

fle(x)) = g(fx)) Fm. &
b— A3\ 12
@ s =(2)

(B) g(x)= m

(C) g()=(ax’+b)'?

Y13 _p)i2
® s =(5 )

af flx) =ax + b U@ g(x) = cx + d, 99
flg(x)) = g(fx)) FrawRi &

(A) fla)=ge)  (B) fid)=g(b)

(C) f(b)=g(d) (D) f(c)=g(a)
RAIEP={(y) |2 +y*=1,x,ye R},
P&

(A) wgey
(C) wafaa

(B) HsHd )
(D) Fi-wafa

afe areg Rgew 12 &, 99 719 e &1 -

(B) 9
(D) 18 9

(A) 12

amefal d el F ve dnfEe
airra amg 30 99 & | afe sefai v
@t Mg FT 3irgd HIY: 32 vd 27 99 B, 99

A\ aedars 10 TRl 3 38, 70, 48, 34, 42,

85.

. P58\ 63, 46, 54 T4 44 37 g B, 79 A

8.6
" (0) 10.6

(B) 6.4
(D) 9.6

faenféat & owarg & favo & F=faRea
Jps RAME :

e # 3ie &1 wfera
(A) 30 (B) 40
(C) 50 (D) 60

19

T
160 | 150 | 152 | 161 | 156 | 154 | 155
G ) ;
frenf¥ray
S 2 gt d -9 33 7
farawor 3t miftawr &
(A) 154 (B) 155
(C) 160 (D) 16l
86. U AR BT WA 39F Frapran # favar oiman
&
(A) FHIR AT
(B) wfeaat
(C) & wTed
(D) s
2roft l+%+%+%+ ------ 3 qB Bl
4
2e (B) 3e
) de (D) Se
1 | 1
88. it Sy e R 3
TP HTAME
(A) log.s (B) log4
(€) log,3 (D) log2
(s




89.

90.

91.

92.

93.

(A) {-12,-9,8, 11}

The domain of the relation
{(9.11), (6, 8), (10, -12), (7.—9)} is

(B) {6,7.9.10}
(C) {-9,8,10,11}
(D) {6,7,10,11}

Which set of ordered pairs does not
represent a function ?

(A) {(6,0), (3,-2), (-5, 4), (-7,0)}

(B) {(-4,-7),(=2,-5),(-3,4). (-1,6)}
(C) {(@3.5),(4,-6), (6, 8),(7.-9)}

(D) {(1,4),(2.7).(3.10), (1,-2)}

Out of 800 boys in a school, 224 played
cricket, 240 played hockey and 336
played basket ball. Of the total, 64
played both basket ball and hockey, 80
played cricket and basket ball and 40
played cricket and hockey; 24 played all
the three games. The number of boys
who did not play any game is

(A) 128 (B) 216
(C) 240 (D) 160

Tt 27 -
Eetf:|— 33 be a function defined as

flx) = '\5 sin x — cos x + 2. The f~!(x) is
given by

(A) sin ( )4%.
o0 w5

The range of function (cos x — sin x) i.
(A) (0, 1) .
(B) (-1,1) \
© (-v2.42) .

(x@ Bl
T 2 J

20

all complex numbers z, 2z,

(B) 2
(D) 7
: TR | : =X
95. Given (x + iy)'’" —a+1bandu—a b'
then which of the fo]lowmg is not a
factor of u ?
(A) (a-b) (B) (a+b)
(C) (a®+b?) (D) (a*+b?)
96. The number of solutions of z2 + 8z =0 is
(A) 4 (B) 3
(€) 2 (D) 1
97. Ifz2+ 7% =5, then z lies on a/an
(A) circle (B) ellipse
(C) hyperbola’ (D) parabola
100 -
98. If(1+x)'%= 3 Cx¥ then value of
k=0
(A) -2%0 (B) 2%
©) 2%@2*-1) (D) zero
99, Givena= 1111 1(55 digits),
b=1+10+10%+ ...+ 10*and
=1+10%+10'0 + - + 10%, then
a=b+c (B) a=bc
=ab (D) b=ac

)
100. /Th

o @;‘;‘ﬂc ¢ a remainder of ‘2" when divided

sum of all 3 digit numbers, that

3,is
(A) 164850
(C) 149700

(B) 164749
(D) 156720
B1IMMG6



89. =Wy
{9, 11), (6, 8), (10, -12), (7,-9)) H1&= &

(A) {-12,-9,8,11}
(B) {6,7,9,10}
(€) {-9,8,10,11}
(D) 16,7, 10,11}

90. Frafm gm & T § | B W TF Gad @
weffra T Fxar g ?
(A) {(6,0),(3,-2),(-5,4),(-7.,0)}
(B) {(-4,-7),(-2,-5), (-3, 4), (-1,6)}
(C) {(3,5),(4,-6).(6,8), (7-9)}
(D) {(1,4),(2,7),(3,10),(1,-2)}

91. T wpd & 800 TSH A A, 224 fbdpe Qe
£, 240 g Qe ¥ 3k 336 Ibea
Fad & | 9 ded) ¥ A 64 aEbedra Td
g S Weora €, 80 frde vd abeara
21 Wera ¥ 3lR 40 fbde vd gTe Word € |
24 9oft i1 @ @erd § | T N @ T @
qTS TSB] Bl T &
(A) 128-
(C) 240

(B) 216
(D) 160

92. fmef: [*3-23—]@%}’&) \ﬁsmx
—cosx+2 A uRwfa & 193 f~'(x) 309

R &

(A) sin”! (x 3 2) +1;-

(B) sin™! (%) %

© oo (552) 4 28

® cos! ((53) -5
93. HeH (cos X —sinx) B &

(A) (0,1)

B) L1

© (-V2,42)
(D) (@ 32+ 1)

B1IMMé6

21

94,

96.

97’

98.

100.

2, = 12 T |z, — 3 — 4i] = 5 B U AR
<& o afee Sl ), z, & ol [z,- 2,

qAHE
(B) 2
(D) 7
(x+ly)”5—a+1b3ﬁ'\’u—"‘;§
Ta fFraferfed 3§ & &1 A1 u ST T8 ?
(A) (a-b) (B) (a+b)
(€) (a2+1b?) (D) (> +b%
Z+8z2=0F el P G
(A) 4 (B) 3
© 2 (D) 1
IR 2 +72 =5, qaz AR ISATIR®
(A) 79 (B) g
(C) sifdaxaery (D) wae™
TR (1 +x)100 = 'g’ Cpt, 7@
k=0

C;=C3+Cg—Cqteeer — Cgo BIHM &
(A) _250 (B) 298
© 2%@¥-1n © 1™

1+10+10%+
1+105+1010+ oo + 105, 7@

) a=b+c
(C) c=ab

(B) a=bc
(D) b=ac

[t 3 sl @ g, e 3/ R
FAGR 2 AU AT 8, BIAN &

(B) 164749
(D) 156720

(A) 164850
(C) 149700
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Roll No.. Examination Centre and its Code and Test Booklet No. should be written on the Part-I of the Answer
Sheet in Computerised format. The Digits should be written in topmost boxes in Blue / Black ball point pen and the
circles corresponding to the digits be blackened with Blue / Black ball point pen only.

IT-TH & q-1 F e W W e TaR /o 5 A B/ WG S G Al B SR |
FZ-HA WihaT | W | SR F BN @HI A 37 SieT WIS Hord Hi At / Hiel Qe F 9 R F=td ne Bt
fads fieht / wrett et @R 9T § 9T |

Example : If Roll No. is 179682 and the Question Booklet No. is 14390, then

ITEA af T =) 179682 & LC] RT-gfee §E@ 14390 &, At
11719161812 4131910
JEEEEE o[ofofo
OIOI0(0|0|® OI0|0|0
(O} fOR{O O} {O] (O] O eo|e
QIOIO|®|®|® L 1O} O[O
®IOI®|IB®(6|6 @066
OO0 e0|® @O0
Q|e|I0|0|0|0 Q10|00
O OO O O] ®O|I®|®
Q|I0|0|0|0|0 OI®O|e|O
(O] {0} LOR {O} KOR O] OOIo0|e®

Process for Filling up OMR Answer-Sheet (30-ua ure-11 &t st &t ufisan) :

The questions are multiple choice type. Each question is provided with a number of choices of Answers, out of
which ONLY ONE is MOST APPROPRIATE. The candidate must blacken the appropriate circle provided in front
of the question number. using Blue / Black Ball Point Pen only. If a candidate uses the pencil for darkening the
circles on the answer-sheet his/her answer-sheet will be rejected.

¥ Sg-faed TR % § | Wl W % forg fed T farhew 3wl A | et U € waiiye S9ge & | k! @t e
T % AT SUge fased & WA % Gty 7ot i et / Hie sl @Re 09 9 8 T € | 3t B8 seiear
Tiiet St dfget & T ¢ O 6% ITR-Ue I @ Y &dT SR |

Example : If correct answer for question no. 7 is the choice ‘B’ then darken the circle in front of question no. 7 as

shown below :

R AfE e e 7 % e faehed B W@ ST E, ot e W@ 7 % 9 o wreega Tiiet @ e feed T aER

2.

THTE -

QNl ®® O ®

Q. No.2

R AT ST S A

0N’ (@OOO
(a) The circles, as d‘escribed in C-1 abovera
(%) IWIT %H C-1 éﬁgﬁnﬁmﬁ teft / wreft afer @rge O G E T E |
(b) The shading should be ould completely fill the circle.

(@) Tt =t QUieT § 17 wE T g =i |

> to be darkened by using Blue / Black Ball Point Pen only.

Continued on the back cover page.
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(¢) Only one circle corresponding to the correct answer should be darkened as shown below :

(M) T IW A T FIA TH & M B O T =GieT st e feamar mar g

Correct / &t ®@® © 0O
incorrect/ 7T O Q@O o O@OO o @@f@@ - ®®O©O®
Incorrect/ ™0 A @ WO o OO OO o O 8 YO
Incorrect / TTeTel ® @ @

(d) The candidates must fully satisfy themselves about thefaggt ke fore darkening the
appropriate c1rcle usmg BluefBIack ball points pen as no cgange in answer once marked is allowed. Use of
swer-sheets are machine

gradable and it may lead to wrong evaluation.

(%) oG e Hi Aelt / el de W FoH  TH § 06 2 555
walifyes et et it TR E, ﬁﬁkﬁﬁaﬂmﬁﬁm}tuﬁaﬁ#maﬁﬁ Wﬂ"{ﬁﬂ&?ﬁﬁﬁ%mm
T 7 ¥ frer i avfa @ & et €, it SR w5 weie gR1 et fear s ek dw s W
o § fE & gt € |

(e) Ifmore than one circle is darkened using Blue / Black ball point pen or if the response is marked in any other
manner or as shown in “Incorrect method™ above, it shall be treated as wrong way of marking.

(3) 3t v § iy Mot ot et / Sl deT SRS Herd | T TR 47 I R 35 FER E mm&m&n&
ToTe TRYSh! | oga AT ST, At 3R T SR fEar SR |

Rough work must not be done on the OMR answer-sheet. Free space provided in the question booklet should only
be used for this purpose.

et SR T ST T - R TR T & 1§ - & 3w org et T ot e €, S ) e
HH HY |

“Bar Code” printed on the Answer Sheet must not be tampered or in any way marked: otherwise the candidature
will be rejected.

IT-TAH Y AR HIE” W ot we e st 7 w7 a1 @ et e 7 fargpa ¢ ok 7 fo @ € o
TR} i SHRER! TqE HT & AR |

Candidate must not leave any mark of identification on any part of the Answer Sheet except Part-1 of the OMR
Answer Sheet as this may lead to disqualification.

IW-TF % TIE-1 % e 3 W e 3 = | el wor &1 e 7 591 a1 7 818 s g Iniieant & few
GG A & A FHA T |
For verification of your handwriting. it is ng

back side of the Part-I of OMR answegs]
otherwise your answer-sheet / candidgtu

3.7, 9. TR 35 | 7 ﬁ@mﬁm
fert e sl e s st R sﬁaa;raqq; :
m}zqqasfﬁ:mm| ik

towrite.the preacnbed Text completely whlch is pnnted on thc
e& and alw pur yop

Tty ® qut w9 ¥ forast S1vET QU e
¥ | 0 T S W A9 ITR-TAe / IERErt

hable to be rejected for which you )ounelf 1l beThlly responsible.
IR 1Y 3TH.AR. & IR-T9% % J 70T H fedt 2 et awr e et o, i ament - <5 o s we
& s foT anmg & qot w9 | et @
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